0]

d
dsqrt{d

5 [pb,GeV ]

Ratio to ATLAS

=
o
w

—
o
N

=
o

0.5

rell-Yan)

Splitting scale\/dﬁ0 (71<m <111G

Z (D
I IIIIIIE

evV)

Rivet 3.1.10, = 300k events

% ANy %
— oy calagaagagat | =
oy e [ BT
— gE® Eﬂ“ -
= h""r'i,‘,.” =
— —m -
L0y
= L«‘.g.!,‘ =
= Cim =
~ LJ!‘ ] §
= B, =0
— NE H©
= ) 1&
= =5
=  m  ATLAS =%
| Pythia 6.425 355 m =
= o Pythia 6.425 356 R
~ Pythia 6.425 ambtl B 8
= - Ho
= =he
- 1
(&)
T S S Y I S N I
— -2
_ . . i
- % ‘;( E‘% \ "t 1
E] x %,4* )}%{%\_ = _
- 2 wx  Zap FAS -
i ) DR e HEtoE gy X /IS ]
I eEda ™ B0T
| * h
| —0.5
1 1 1 1 1 1 | 1 1 1 1 1 1 1 1 | 1 1 1 1 1 1 11 | '.‘ 1 1 1 T\ 1 1 1 1 |
3
1 10 0°

10
sqgrt{d_0} [GeV]



	Contents
	Page 1


